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Shifting
The case of y It k

if k is positive translate y x Als

is negative translate y x b k



Consider the case of Y X h
horizontalshift

if h is negative translate y x2 h

positive translate y x2 b

Note this is for y x h

in the case of y Cx th

y x CHD

if his negative translate y x2 h

positive translate y x2 b
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Thegenerat y aCx h5tk
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vertex Chik



4 3 418 1 27

f ax thx to
c standardform of a quadratic

Osc is y intercept

only in standardform

3,0

4 3 4 18 27
if 3 418 27 0

y 3 x 6 9
31 46 9120

4 31 3
344311 37 0

X 13 0

y 3 xt 3 Cx 13 x 3
a

solutionto

f a x r x rz
ax4bxtc O

root

roots form r rz are solutions
to ax4bxtc O


